
Q1) Define the term Banking. Explain the relationship between Banker and
Customer. [15]

~±qH$J `m eãXmMr ì`m»`m gm§Jm. ~±H$a Am{U J«mhH$ `m§À`mVrb nañna g§~§Y ñnï> H$am.

Q2) Define Negotiable Instrument. What is the procedure for filling complaint?
U/s. 138 of Negotiable Instruments Act? [15]

{ZJmo{eE~b BÝñQ®>_|Q>Mr ì`m»`m gm§Jm. {ZJmo{eE~b BÝñQ®>_|Q²>g H$m`ÚmÀ`m H$b_ 138 AÝd ò VH«$ma
XmIb H$aÊ`mMr H$m` à{H«$`m Amho?

Q3) Write a detail note on composition, Management and Functions of RBI. [15]

Ama.~r.AmB©. Mr aMZm, ì`dñWmnZ Am{U H$m }̀ `mda Vnerbdma Zm|X {bhm.
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gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) Attempt any four questions from Q. No. 1 to 7.

àý H«$_m§H$ 1 Vo 7 _Yrb H$moUVohr Mma àý {bhm.
2) Question No. 8 is compulsory.

àý H«$_m§H$ 8 A{Zdm ©̀ Amho.
3) Figures to the right indicate full marks.

COdrH$S>rb AmH$S>o nyU© JwU Xe©dVmV.
4) àíZn{ÌHo$_Ü ò _amR>r ̂ mfoVrb àíZmV H$mhr g§{X½YVm Agë`mg AWdm ̀ mo½` eãX

CnbãY Zgë`mg B§J«Or àíZ J¥hrV YaÊ`mV òB©b.
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Q4) Explain the role of Debt Recovery Tribunal as a grievance redressal agency.
[15]

VH«$ma {ZdmaU g§ñWm åhUyZ H$O© dgwbr Ý`m`m{YH$aUmMr ŷ{_H$m ñnï> H$am.

Q5) What is importance of the Principle of Insurable Interest in Insurance Contract?
[15]

{d_m H$amam_Ü ò {d_m `mo½` {hVg§~§Y `m VËdmMo _hËd ñnï> H$am.

Q6) Define the term Risk. Explain the circumstance affecting the risk in life Insurance
contract. [15]

OmoIr_Mr ì`m»`m gm§Jm. OrdZ {d_m H$amamV OmoI_rda n[aUm_ H$aUmè`m H$moUË`m n[apñWVr AmhoV?

Q7) What are the Salient features of Insurance Regulatory & Development Authority
Act 1999? [15]

{d_m {Z`m_H$ Am{U {dH$mg àm{YH$aU H$m`Xm 1999 Mr H$moUVr R>iH$ d¡{eï>ço AmhoV?

Q8) Explain any five from the following in one/two sentences : [5 × 2 = 10]

Imbrbn¡H$s H$moUË`mhr nmM àíZm§Mr CÎmao EH$/XmoZ dmŠ`mV {bhm …

a) No fault liability

Zmo \$m¡ëQ> bm`{~{bQ>r

b) Dishonour of cheque

YZmXoeMm AZmXa

c) Negotiable instrument

{ZJmo{eE~b BÝñQ®>_|Q>

d) Effect of Misrepresentation in Insurance Contract

{d_m H$amam_Ü ò MwH$sMr _m{hVr {Xë`mMm n[aUm_

e) E-Banking

B©-~±qH$J
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f) Third party Insurance

WS>© nmQ>u BÝewaÝg

g) Nominee

Zm_{ZX}{eV ì`º$s

h) Ombudsman

bmoH$nmb

i) Cheque

YZmXoe

j) General Insurance

OZab BÝewaÝg
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